The Wave Function

Homework 23
1.  Solve this equation algebraically for 
[image: image1.wmf].

2

0

p

q

£

£






(4)

[image: image2.wmf]1

cos

sin

3

=

-

q

q


2. (a) Find the minimum value of 
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    (b) Hence or otherwise find the maximum value of  
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      and the value of x at which this occurs.
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3.  The expression 
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 represents the displacement of a wave after 

 seconds and can be written in the form 
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      a)  Write down the amplitude and period of the wave.
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      b)  Use your values of 

 and 

 to sketch the graph of 

against 

 
for 

, showing clearly the points where the graph cuts the x-axis and 
any stationary points.
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 4.  For what values of 
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 is function 
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